/ VS \\\P} "L
m{ TICK / ....... \ TicK

| E=0.50 5 NS 7 £=0.50 /

Yengok=4 KAT N A I N / X Yencok=4 KAT //

1) A5 ! NV 0R& 4
E=0.50 _JJ L\ o0 il ﬂ . | _ O SO \/ / . . // / i

) | . 1 \ O
I\ NN\ A ) TN
. /\ \ \REAY- - \ ::._: ,I/ I='1 e / _ ' @/: . .: ..\/ m< E=0'50

encok=4 KAT

A N ARy 1Y ' - ;
./°7/'/ W\ ,//, R oc a ?\Ki

D1

—
T
o
:

N\

/)

/ NN N @y W/
4 K1 \ . Y / N E=0.50 .

E=0.50 | oU iV N | Yengok=4 KAT
Yencok=4 KAT /L ' N |

L) 4/ K1 A N |
Y { E=0.50 N >

10 AN Yencok=4 KAT N % K1
| > / E=0.50

Yencok=3 KAT

/ K1
3 z E=0.50

- Yencok=4 KAT
\ G

Yencok=3 KAT

K1

E=0.50
Yencok=3 KAT

K1

E=0.50
Yencok=4 KAT

~_

N ‘ .
: OO ¢" "' % K4 \.\
NON R 3 E=2.00 |

. Yencok=10 KAT
K1
E=0.50 \
Yengok=3 KAT = "\

Bal O Yencok=Serbest

T B NN Yengok=18.50 m



